ELEC 5200-001/6200-001 (Spring 2010)
Homework 4 Solution
Assigned 3/1/10, due 3/8/10
Problem 1: Write the binary codes for sll (shift left logical) and nop (no operation) instructions. How do control and datapath execute these instructions?
Problem 2: Enhance the truth table of the control circuit of a single cycle processor for jump and link (jal) instruction.

Problem 3: Specify modifications in the datapath and control of a multicycle processor to complete the branch equal (beq) instruction in two cycles.

